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pTOtz
la) (x * 5) * (y - 1)2 = O ) (V - tf = -1(x + 5) horizontol

ve*ex, (-5, 1), 4p = -1 , P = -!/4
focgs:(h*p, k)=(-5.25, 1), directnix:x=h-p,X = -4.75

15) (x * 1)" = 4(V - 2) ver';icol
vertex: (-2, 2), 4p = 4. p = 1

focus; (h, k*p)=(-t,3), dinectrix:y=k -p, y= 1

l7)V=iilxz-2x+5) t 4v=* -2x+5 ) 4y=(x2-2x+1)*5-t
) 4't - 4 = (x - l)t ) (x - t " = 4(y - 1) verticol

verfex = (1, 1), 4p = 4, p = 1

focus: (h, k*p)=(1,\2), directrix: y= k - p, y=O

18)x= *(yt+ 2y+!t) ) 4x- 33 =yz *2y )4x- 33+ t =f + 2y+ I
) 4x - 8) = (y " l)t horizontol
vettex: (8, -1), 4p = 4, p = I
focus: (h * p, k) = (9, -1), directrix: x = h - pt, x = 7

t9)y2*6y*8x+25=O ) V2*6y=-8x-25 )
y2 * 6y + 9 = r$x - 25 + 9 t (y * 3)2 = -8(x + 2) horizontol
vettex: (-2, -3), 4p = -8, p = -2
focus: (h r p, k) = (-4, -3), directrix: x_= h - p, x = O

?Olyz-4y-4x=O ) y2-4y=4x + f-+V+4=4x+4
) (Y - 2)" = 4(x + 1) horizontol
ver"tex: (-1,2r, 4p = 4, p = 1

focus: (h " p, k) = (O, 2), directrix: x = h - p, x = -Z

p382:
72) (cotx + csc x[cot x - csc x) = cotz x - cscz x = -1

rc) (sed x * lXsec x - 1) = sec2 x - I = tonz x-


